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SN SNTED
HE: o0 BME A5
SERCEET-EE S CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OIS SSEZEH XA 458,900
= 353,000
= 105,900
MEHLHP2AIE A 1,993,057 1,896,000 97,057
= 1,766,000
= 227,057
403 XX SRS R 20| & 1,993,057 1,896,000 97,057
= 1,766,000
= 227,057
01 MXSHHXNE2EE X 1,993,057 1,896,000 97,057
OMEHEHFAIEAS 1,993,057
2 1,766,000
= 227,057
A2 YR XA (AHQH) 1,884,475 2,609,025 AT24,550
2 1,716,000
& 168,475
403 XX SHHS K20 & 1,884,475 2,609,025 ANT24,550
= 1,716,000
== 168,475
01 XIS A2 X 1,798,475 2,609,025 A 810,550
[JHOIHH R EEZH (HQH) 1,798,475
= 1,673,000
= 125,475
02 2II2S0CHeCH& AL I 86,000 0 86,000
[JHOHH S A EH = AL 86,000
= 43,000
& 43,000
HERFYAHALHMMHEANEZESES S XS 400,000 400,000 0
308 XAHXIEHSOIA 400,000 400,000 0
01 AIXSHMENMNEX= 400,000 400,000 0
OJHAERLHAHEANBE S XS 400,000
HEHEs&HZoI TR H 17,319,118 20,423,890 N3,104,772
= 43,200
2 6,576,000
& 10,699,918
HEtAl A 7,431,000 7,327,000 104,000
403 XX SHS K20 & 7,431,000 7,327,000 104,000
01 XIS A2E X 7,431,000 7,327,000 104,000
OXEHEAIA 4,000,000
OteEs 300,000
O0|Jtel & 300,000
OJt=8 300,000
O& s 200,000
O&d381218 250,000
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SUTED
si@ol A 2t
HEogRFTATS

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
oA e 400,000
orze 200,000
o=z¢& 250,000
OPIF=5-| 200,000
OtHate 900,000
(OFsE -1 700,000

OA7208 A4 3,000,000
Ozt&e & 60,000
Ost&i2el & 45,000
O&F&3 & 90,000
ouge 120,000
Of=g 60,000
OC3a=Zeg 90,000
O&22 g 45,000
Oot&E 1,228 90,000
OA&1el g 60,000
og el g 60,000
ozZeld 90,000
OodE12 90,000
OZ A2 & 90,000
odg2c g 60,000
Oti=ti22l & 90,000
oggielg 60,000
od &2 & 60,000
O At 160,000
OotM & 150,000
o8¢ 120,000
oz&2d g 90,000
O’ At 90,000
OAL&I22] & 90,000
O=&2ce & 90,000
Ot&e g 90,000
Ot&3el g 90,000
oun=g 90,000
O==¥ 90,000
o=sag 60,000
Odsg 60,000
osae 60,000
Ogug 90,000
OE =31 60,000
O AHe 60,000
oulaerg 60,000
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OAMS22 & 150,000
OXNgHS AR R 22 X~ 311,000
O=s&gdEAE 120,000
off &F & & & At 800,000 700,000 100,000
401 Al HIZ 201 8] 800,000 700,000 100,000
01 A& HI 800,000 700,000 100,000
OxXgoesxadadgdesEit 800,000
HEHS2Z TS F A 34,250 35,550 A 1,300
201 Let24d] 5,500 4,800 700
01 At 22/l 5,500 4,800 700
O=gl 5,500
OENEAZUIUAZLRFIZA 5,500
202 (44l 28,750 30,750 A2,000
01 SLHOIYI 28,750 30,750 A 2,000
OdEdg2Zozet2==2 0l 28,750
ngoigAas 3,000,000 4,793,750 A 1,793,750
= 2,400,000
< 600,000
401 Al HI X 2018 3,000,000 4,793,750 A 1,793,750
& 2,400,000
< 600,000
01 A& Hl 2,981,000 4,763,750 A 1,782,750
Oxgogds 2,981,000
= 2,384,800
< 596,200
03 A& =TI 19,000 30,000 211,000
OXgoeAL 20Ul 19,000
& 15,200
< 3,800
AIZBHZAE (MU BMAXEY) 3,312,500 4,548,750 A 1,236,250
= 2,650,000
< 662,500
401 AIEHI L 2CHEI 3,312,500 4,548,750 A 1,236,250
& 2,650,000
< 662,500
01 A& Bl 3,289,500 4,508,750 A 1,219,250
OZH=AIE 3,289,500
& 2,631,600
< 657,900
03 A& S THHI 23,000 40,000 A 17,000
JoIZSHE=AIERUYI 23,000
= 18,400
< 4,600
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
HEHE22(HYNBMAXZEY) 625,000 560,000 65,000
& 500,000
= 125,000
403 XAXISH M S K201 625,000 560,000 65,000
& 500,000
< 125,000
02 3|25 0l CHShCH 2 At & HI 625,000 560,000 65,000
Od=oZ&2el 625,000
& 500,000
= 125,000
HEMEOISMREUHS XA 53,568 44,640 8,928
= 43,200
< 10,368
308 KXIEH S0l 53,568 44,640 8,928
= 43,200
< 10,368
01 AXNHHBAMNEES 53,568 44,640 8,928
OHEME I SMREHEXA 53,568
= 43,200
< 10,368
SEHANSEXZY 1,333,800 1,916,200 A 582,400
& 1,026,000
< 307,800
403 XXM S X201 1,333,800 1,916,200 A 582,400
& 1,026,000
< 307,800
01 AXSMA=2E = 1,333,800 1,916,200 A 582,400
OsgHAsdxyd 1,333,800
= 1,026,000
< 307,800
HOMHICIS H (ST X H) 500,000 300,000 200,000
201 L2l 100,000 0 100,000
01 At 22l 100,000 0 100,000
O3l 100,000
OHCHHITIS ZAIME S 100,000
403 XXM S X201 400,000 300,000 100,000
01 AXSHMA2E = 400,000 300,000 100,000
Ooeotuttt=&8x o 400,000
HEazayds 229,000 78,000 151,000
403 XAXISH M S K201 A 229,000 78,000 151,000
01 XM A2 X 229,000 78,000 151,000
OJoEgsotsxd 45,000
OEMelssd 24,000
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JEZN-SSAMEEFEL 60,000
ORAHRAHEEA 100,000
SIS EUIO=SEI}AE 8,114,943 5,010,663 3,104,280
= 4,123,000
& 1,331,000
< 2,660,943
SAFINHS S 176,000 170,100 5,900
403 MHXSHHSA=0l& 176,000 170,100 5,900
01 HXSHMA=E X 176,000 170,100 5,900
N R RS NN = 29,000
Ool=83HAAHEINNMSS 147,000
= ATHOH CHEI 4 S A A X R 42,000 42,000 0
403 A X EHHS =0l A 42,000 42,000 0
01 X EHHM A= E L 42,000 42,000 0
AFTH OH CHH| 94 St aF A X & 42,000
LH=HO S AIE XN 60,000 60,000 0
403 MHXSHHSA=0l& 60,000 60,000 0
01 HXSHMA=LE X 60,000 60,000 0
OUW=HHSAIELMNES 60,000
1o & 2t el 145,000 27,000 118,000
403 XIS E =0l & 145,000 27,000 118,000
01 HIXSHMA2E X 145,000 27,000 118,000
O A 45,000
ONtSESHENALEA 100,000
HiCt=X & ALY 300,000 300,000 0
403 MHXSHHSA=0l& 300,000 300,000 0
01 X ESHHMA=LE L 300,000 300,000 0
OHttt=Z2 8 At 300,000
HEALX tHolgtx 4o 634,000 585,000 49,000
403 UtXISHH S =0l & 634,000 585,000 49,000
01 X SHMA2E X 634,000 585,000 49,000
OoHssAsL8ExY 90,000
CIOtS &2 BRSO 105,000
O™ 42 M AHS 169,000
OZ3MdAXHMLE=F 270,000
MBS EHS S FA 70,000 18,000 52,000
201 €82l 5,000 3,000 2,000
01 At 22/l 5,000 3,000 2,000
O=2d=¢ 1,000
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SA - FE - BI(EA) - NRAY - By 0l b SSa DS

O30 x=goszgaaddsd 1,000
O=gl 4,000
O Z AU HIGASEFAZ A 4,000

202 44l 15,000 15,000 0

01 S LHOYI 156,000 15,000 0
O3 2ot Hbt= et & =804l 15,000

301 gt d= 50,000 0 50,000

01 MI2ZE 6= 50,000 0 50,000
OF+=0PAUSH X 50,000

TUHMERHAZHRASS 81,000 56,920 24,080
= 81,000

403 MtXISHH S0l & 81,000 56,920 24,080
= 81,000

01 AXISHHA=2E = 81,000 56,920 24,080
Ot gac|uidsg 81,000
= 81,000

LSANYESFANL (S HAMATES) 140,000 160,000 220,000
& 140,000

308 XtXIEHH SOl A 140,000 160,000 220,000
& 140,000

01 AXHHILEES 140,000 160,000 220,000
A0 E st 140,000
& 140,000

SMERHL LR (I NREMAXEY) 700,843 806,600 A 105,757
& 621,000
< 79,843

403 MHXHHSA=0l& 700,843 806,600 A 105,757
2 621,000
< 79,843

01 AR SHHA =22 = 700,843 806,600 A 105,757
OS2 LY=F 700,843
& 621,000
=) 79,843

HEHAXRE22SSHAA 3,658,000 2,201,000 1,457,000
= 2,950,000
=) 708,000

403 MHXISHHE A0l & 3,658,000 2,201,000 1,457,000
= 2,950,000
=) 708,000

01 AXISHHA=2E = 3,658,000 2,201,000 1,457,000
Oogiads2elsSsSHAA 3,658,000
= 2,950,000
< 708,000

oo
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

SUEQURSDHEAM(HLRINAXZAL) 100,000 113,430 A 13,430
2 70,000
< 30,000

403 RXI S A S X =0l & 100,000 113,430 13,430
2 70,000
< 30,000

02 3|25 0l CHShCH 2 At & HI 100,000 113,430 A 13,430
O+ 4Z2YESIEA 100,000
= 70,000
= 30,000

NUERHEEZ XA 37,700 26,000 11,700
= 29,000
< 8,700

403 XIS S X201 & 37,700 26,000 11,700
= 29,000
< 8,700

01 XXM 22 = 37,700 26,000 11,700
OJNUYEREESXI AL 37,700
= 29,000
< 8,700

SAESE NS AL 215,400 300,000 A 84,600
= 213,000
< 2,400

308 A EHHSOIA 215,400 300,000 A 84,600
= 213,000
< 2,400

01 HXNHHNBHELS 215,400 300,000 A 84,600
OSAHSZ LA 205,000
= 205,000
O8I ESs S 2 10,400
= 8,000
< 2,400

SoHetoar LA MARH 650,000 0 650,000
= 500,000
< 150,000

403 A X EHHS =0l A 650,000 0 650,000
& 500,000
= 150,000

01 X EHHMA=E L 650,000 0 650,000
[JSoictol af Al M= A 650,000
& 500,000
< 150,000

Ao Sl A ANBHHEZH L 325,000 0 325,000
= 250,000
< 75,000

«©




A MEUED
HE: o0 BME A5
Sl BYASHOS IS CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
403 XX SHHS K20 ™ 325,000 0 325,000
= 250,000
& 75,000
01 XIS A=Z2E X 325,000 0 325,000
OMMNIIF I RXAAIEHH &N 325,000
= 250,000
= 75,000
HdEdlEssItsel e 780,000 0 780,000
= 600,000
o=} 180,000
403 XX SRS K 20| & 780,000 0 780,000
= 600,000
= 180,000
01 AXESHHI=E2E X 780,000 0 780,000
ONEdlE&sIIsel e 780,000
= 600,000
& 180,000
MNEst=MNEZ2S 15,554,243 23,271,097 NT,716,854
= 192,500
2 9,850,000
J| 1,000,000
= 30,403
&< 4,481,340
2= A S & DL E HI X & 20,000 21,480 A 1,480
307 2Iz2to| & 20,000 21,480 AN 1,480
02 QI2tA AP X 20,000 21,480 AN 1,480
[O=atet et & OLEH A& 20,000
=MERESIMA 333,000 321,000 12,000
403 XX SHHS K20 & 333,000 321,000 12,000
01 XIS A=Z2E X 333,000 321,000 12,000
(OB jgYRAHAZI| XA 105,000
Ot Hel MEAI-E XS 126,000
OXNGEMEMSIIBALEAYE 72,000
OYALMSE GBI AL 30,000
NEESAZAHSFA 96,000 96,000 0
403 XX SHHS K201 & 96,000 96,000 0]
1 ARSI 2E X 96,000 96,000 0
OXNYGESLMASAHS 96,000
SMSII2AE 202 A 22| (HACCP) & H X & 63,000 63,000 0
403 XX SHS K20 & 63,000 63,000 0
01 AIXISHHMAZ2E X 63,000 63,000 0
A2 2 A2 002 A 22| (HACCP) & H| X & 63,000
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sl A 2t
NREESNEE-=
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SN BA(SA) - MRAY - BES 0l &t o il HImEET

=405 AR 40,005 42,179 N2, 174

& 30,403

< 9,602
308 XAHXIEHH SOl 40,005 42,179 N2,174

& 30,403

< 9,602
06 I 20UStE2xS 40,005 42,179 A2, 174

OXg = 4atnt = A X (012F) 40,0056

= 30,403

= 9,602
HEEHNRFR=SHXA 100,000 100,000 0
308 XtXIEHH SOl A 100,000 100,000 0
01 AXHHIYEES 100,000 100,000 0

O EHMRFI=SH XA 100,000
HERFJH XA 507,000 421,200 85,800
403 X EHHSH20lA 507,000 421,200 85,800
01 X HHMA=ZLE L 507,000 421,200 85,800

OdgssFdH X 507,000
QAR LM SHA2SH A 21,000 21,000 0
403 Mt SHHSA=0l& 21,000 21,000 0
01 X SHMA=E X 21,000 21,000 0

OQRFAHRAMSHA2SHIXRA 21,000
HESE23HS 20,000 19,500 500
308 XXM SO0 A 20,000 19,500 500
01 AXHHBISEES 20,000 19,500 500

OHERE 2} AsXE 20,000
HAHE=AHBHI XA 15,000 95,000 280,000
307 21201 A 15,000 95,000 280,000
02 2ltF & E X 15,000 95,000 A.80,000

OS2 (TAC)AE A3 XA 15,000
Hgoillesdx=23 63,240 63,240 0
308 AAIEHHSOIA 63,240 63,240 0
01 HXNHHBHEELS 63,240 63,240 0

O==&d2XNES 52,320

OR+=0Hgeloi2l = 10,920
Mt MEZSF 20,500 20,000 500
201 Let2d] 5,500 5,000 500
01 At 22l 5,500 5,000 500

[E==3:] 5,500
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SuEE
HE: o0 BME A5
Sl MM MSBE CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Otldstafieza=a 2 Al 5,500
202 044l 15,000 15,000 0
01 2L Y| 15,000 15,000 0]
OANSteEAIE223 =80 15,000
= AMSAXIIZ2AIE 975,000 585,000 390,000
2 750,000
o=t 225,000
403 XX SHHS K20 & 975,000 585,000 390,000
= 750,000
o 225,000
01 XIS A2 X 975,000 585,000 390,000
=t AR 2 A1 A 975,000
= 750,000
= 225,000
SAMAMBHESR XS 3,120,000 2,600,000 520,000
2 2,400,000
= 720,000
403 XX SHS K20 & 3,120,000 2,600,000 520,000
2 2,400,000
= 720,000
01 XIS A 2E X 3,120,000 2,600,000 520,000
COH O At SO B S X 2 A 2,730,000
2 2,100,000
& 630,000
Oss2HHASHRN XS 390,000
2 300,000
= 90,000
WEX4+ A4S RS HH 4,940,000 3,250,000 1,690,000
2 3,800,000
& 1,140,000
403 XX SHHS K20 & 4,940,000 3,250,000 1,690,000
2 3,800,000
& 1,140,000
01 XIS A=Z2E X 4,940,000 3,250,000 1,690,000
OSSR SHEHAA 4,940,000
2 3,800,000
= 1,140,000
ZotALMAMBSHESHX XS 3,250,000 5,850,000 A 2,600,000
2 2,500,000
= 750,000
403 XX SRS R 20| & 3,250,000 5,850,000 A 2,600,000
2 2,500,000
& 750,000
01 MXSHHXNE2EE X 3,250,000 5,850,000 A 2,600,000
OZ0lA L AMAEHESX XS 3,250,000
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& 2,500,000
< 750,000

SAHELSF D WA 165,000 1,365,000 A 1,200,000
= 165,000

308 XX EHHSOIA 165,000 165,000 0
= 165,000

06 WEII20HEt2EZ 165,000 165,000 0
Ox8AHSESt D DX HFAL (S RAMEIZ DY) 165,000
= 165,000

HIHNEHHEIIS+=A 1,000,000 1,000,000 0
J| 1,000,000

308 XtXIEHH SOl A 1,000,000 1,000,000 0
J| 1,000,000

01 AXHHILEES 1,000,000 1,000,000 0
OAZ i S HH Il 2 +=H 1,000,000
J| 1,000,000

DM E2I U E 49,500 49,500 0
= 27,500
< 22,000

403 X EHHSH20lA 49,500 49,500 0
= 27,500
< 22,000

02 S| 2 S0il CH &HCH & A I 49,500 49,500 0
Oz0==MFH2IHE2F 49,500
= 27,500
< 22,000

Jlsd==t=82X3 50,000 50,000 0

307 glz2tol & 50,000 50,000 0

04 QIZFHALE X 50,000 50,000 0
DIsdsdE82X& 50,000

SESMESXNHEHE 479,998 479,998 0
= 400,000
< 79,998

403 XIS E X201 & 479,998 479,998 0
& 400,000
< 79,998

01 X SHHX2E = 479,998 479,998 0
OFEZMSHMNEAE 479,998
& 400,000
< 79,998

Sapa g s Rel e AR 75,000 65,000 10,000

307 21201 A 75,000 65,000 10,000

02 RI2HE A8 X 25,000 25,000 0
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